
Problemlösning	med	algebra
exempel:	
En	familj	har	tre	barn:	Anna,	Beth	och	Ceasar.	Beth	är	dubbelt	så	gammal	som	
Anna	och	Ceasar	är	2	år	yngre	än	Beth.	Tillsammans	är	de	13	år.

Hur	gammal	är	Ceasar? Lösning:

Välj	vad	som	ska	vara	x	
Det	kan	vara	det	som	de	frågar	eGer	
men	det	är	inte	allHd	det	smartaste,	
ibland	är	det	bäIre	aI	välja	x	Hll	
något	som	gör	ekvaHonen	enklare.

Ställ	upp	u:ryck

Ställ	upp	en	ekva=on	
Förenkla	leden	om	det	behövs

Lös	ekva=onen

Pröva	lösningen	
Kontrollräkna	så	aI	du	inte	gjort	
några	slarvfel

Kontrollera	svaret	
• Är	lösningen	på	ekvaHonen	
detsamma	som	svaret	på	frågan?		

• Är	svaret	rimligt?		

• Har	svaret	räI	enhet?

4

5 V.L.	 	 	
H.L. 	
V.L.		 		H.L.	

= 5 ⋅ 3 − 2 = 13
= 13
=

3

1 Annas	ålderx =

6

2 Beths	ålder 	
Ceasars	ålder	 	Beths	ålder	

= 2x
= −2 = 2x − 2

Ceasars	ålder 	 	

Svar:			Ceasar	är	 	år

= 2 ⋅ 3 − 2 = 4

4

	x + 2x + (2x − 2) = 13

5x − 2 = 13

	 	
	 	 	 		

	 	
	 	 	 	 		
	

5x − 2 = 13
5x − 2 + 2 = 13 + 2

5x = 15
5x / 5 = 15 / 5

x = 3
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